YT s

Expoentes de 10

Nome:

10°

2% 10° =
4,07+ 10" =

5x10° =

~1x10° =
10° =
10° =
7,69 + 10 =

1,17+ 10° =

Encontro: Data: Pontuagao:

1x10° =

4,42 x 10° =

1,99+ 10 =

10

9x10° =
10° =
8,04+ 10% =

9x10° =
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YD

Expoentes de 10

Nome:

10° = 1000

2 x 10° = 200000
4,07 = 10* = 0.000407
5x10° = 5000

10° = 1000

—1 % 10* = -100

10° = 1000

10° = 1000000

7,69 =10 = 0.769

1,17+ 10 =0.0117

Encontro: Data:

1 x 10° = 1000
4,42 x 10° = 4420
10 = 100

1,64+ 10* = 0.0164

1,99+ 10=10.199

10* = 10000
9x10°=9
10° = 100000

8,04 + 10 = 0.0804

9 x 10° = 900000

www.snowmath.com

Pontuacao:
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